Math 253 Exam 2 Rev Answers

L (@ r@)=(*-1,2r—2In()).
(b) Ir(D)] = 3.
(c) a() = (2,0,—1/17), a(1) = (2,0,-1).
(d) The length of the curve is 24 + In(5).
() T() = <1i§zz’ 2 leﬂ), T(1) = (2/3,2/3,1/3).
) (1) =2/9.
2. T(z/6) = (2/5.2v3/5.-3/5)

/4 . 1, 1, =%,
3. J cos(2t)i +sin(2t)j+tk dt = =1+ =j + —k.
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4. The length of the curve r(f) is e — %
_ 2 2 2 _ [ 2t 2= -2
5. T = <zz’? ot m) N = <ﬁ st ﬁ)
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6. k(1)

7. v(1) = (2,1,3),a(l) = (2,0, 6), speed = V14.
8. aT=0,aN= 1.
9. r(t) = (3sin(z), 4¢, 3cos(?))

(a) r(s) = (3sin(s/5),4s/5,3cos(s/5)).
(b) T(0) =(3/5,4/5,0) and N(0) = (0,0, —1)
(c) The equation of the normal plane at the point (0, 0, 3) is 3x + 4y = 0.

10. a(t) = (1,12, cos(2t) ), with initial velocity v(0) = (1,0, 1) and initial position r(0) = (0, 1, 0)

(a) v(r) = <1 + %, 2 1+ sin§21)>.
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